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CHEMISTRY

BOOKS - MS CHOUHAN

ALDEHYDES AND KETONES

0 NGHKOWHLO 4y
[ Waolff -Kishner reduction]  majar

, Product A


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_b20gDHrce07e

OH

(8]
A NO,
cl 0/3
(8]
B NO;
Cl
(]
NC
C. !
OH
oLy
D. "0z
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_b20gDHrce07e

C — CH,4 CHy — CHy

® &

Above conversion can be achieved by :

A. Wolf-Kishner reduction

B. Clemmensen reduction

C.LiAlH,

D. NaBHy

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HSdxbR5FCf11

o
CH,-—-—g—m-li—mg——CH\—-;H, —p ::H_.,-—(c:l-l,J,——m{—/s:u,

3, O o]

Above conversion can be achieved by :

A. Wolf-Kishner reduction
B. Clemmensen reduction
C.HS — CH; — CHy; — SH> following by Raney Ni

D. None of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4AIOKHsAId7w

O

|
C — CH,

@ et
HC
NO,

4. , Product

of the Clemmensen reduction is :

CHy — CH,

t ™~ NO.
A. ?

OH

CH — CH,

i ~NO,
B.


https://dl.doubtnut.com/l/_Q81elJTfa1zI

CH, — CHy

NH
C. 2
OH
CHgz — CHy
NO,
D.
Answer: C

o Watch Video Solution

OH o] OH

I I |
CH3 —CH —CHjy — CHy —C —CHy — CHy — CH— (CH,); — CH,
5.

Above conversion can be achieved by :

A. Wolf-Kishner reduction


https://dl.doubtnut.com/l/_Q81elJTfa1zI
https://dl.doubtnut.com/l/_FBy8TxuZoNgB

B. Clemmensen reduction

C.LiAlH,

D. NaBH,

Answer: A

° Watch Video Solution

0

o_ CHy — CHy CHy— c:H, CH, — CHy
'm“*“
Ny, N
nro v

Identify product (A) & (B) from the given product P, Q,R

A.A=P,B=0Q

B.A=Q,B=R

C.A=Q,B=P


https://dl.doubtnut.com/l/_FBy8TxuZoNgB
https://dl.doubtnut.com/l/_VEojoTBqnUyI

D.A=R,B=P

Answer: C

° Watch Video Solution

O
C — CH,4
—LaHg , (A);
HCl
7. HG , Identify
the A.
/Q/CH, — CHy
A HO
Cl-


https://dl.doubtnut.com/l/_VEojoTBqnUyI
https://dl.doubtnut.com/l/_Pisu5KGh4gwl

OH

Answer: B

o Watch Video Solution

C — CHj,

H jH..

T, A
[ ‘Wil il- Keshrer reduction)

r (A)

CH, — CH, —Br
2 2 , Product


https://dl.doubtnut.com/l/_Pisu5KGh4gwl
https://dl.doubtnut.com/l/_m1KgahwQaKQ0

CHy — CHy

A CHy—CH—OH

L

C.
(llH — CH 3
Br
D.
Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_m1KgahwQaKQ0

0 0 0 O

7
é/\n/
0

9, . , Above
conversion can be carried out by :

A. Clemmensen reduction

B. Wolf-Kishner reduction

C.LiAlH,

D. NaBH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_m1KgahwQaKQ0
https://dl.doubtnut.com/l/_hXxXnN4FlZPV

10. Increasing order of equilibrium constants for the formation of a

hydrate:
0 0 0 o
NHj 0N
m m) (mmy )

ATV <IIIT < II <1
B.IV < IIl <1I<II
CIl<II<III<IV

D.IIT < III <I< IV

Answer: C

° Watch Video Solution

O )—c=c _<:}_ucH L, (A)
11 @ ¥ dil H;50, Major produc

(A)is :

Product


https://dl.doubtnut.com/l/_qOIFVbVRhHSd
https://dl.doubtnut.com/l/_oPdM77HhWBSO

Answer: C

o Watch Video Solution

12.

Predict the product of hydrolysis of the above molecule.


https://dl.doubtnut.com/l/_oPdM77HhWBSO
https://dl.doubtnut.com/l/_TZGJODPjQhrT

CO4H

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TZGJODPjQhrT

OH OH
OH OH

OH O .
13. , This

conversion can be achieved by :
A. MBQCO/H+, H30®, KM’nO4/HO_
B. MexCO/H ™, KMnOy, H;O™
C. KMTLO4/NCLO4, MezCO/H+, I‘IgO+

D. KMnO4/NaIO4, H30+, MGQCO/H+

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_k3GrcqL3GawB

I S G I

Compound (A) & (B) can be differentiated by :

14.

A. 2-4-DNP

B. Fehling solution

C. Lucas reagent

D. NaHSO3

Answer: B

o Watch Video Solution

OMe

DHQ (l:i'
e OMe - __HOLN' feaaiyst (4} 4 H— C —OMe; |
2071 Smin Methyl formate

15. , Product


https://dl.doubtnut.com/l/_lCVBTp8nU3R5
https://dl.doubtnut.com/l/_T3d9S3sp95cX

OH
O<UHI
(9]
A.
OMe
OMe
O
B.
OMe
Me
(]
C.
Me
O
O
D.

Answer: B

o Watch Video Solution

0

Reagents to carry out above conversion, P, Q, R respectively are :


https://dl.doubtnut.com/l/_T3d9S3sp95cX
https://dl.doubtnut.com/l/_7PL8OeULWgsR

A H,C = CH — CH, — Br, (H09>, [Hoe, A], Wacker-
process

B. H,C = CH — CH, — Br, (HOG>,Wacker-process, HO®°, A

C. Wacker process,
H,C = CH — CH, — Br, (Hoe), HO®, (A)

D. Wacker process,

HO®(A), H,C = CH — CH, — Br, <HO°)

Answer: B

o Watch Video Solution

17.

Above reaction is a Baeyer Villiger rearrangement of an asymmetric


https://dl.doubtnut.com/l/_7PL8OeULWgsR
https://dl.doubtnut.com/l/_VTNAfZ4slnjH

ketone with magnesium mono peroxo pthalate hexahydrate (in the

drawing, Mg "2 is omitted for clearity) Identify major product.

O
c:"'n
A.
]

(5
R

O
nﬁlj

i
OH, f R

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_VTNAfZ4slnjH

OCH, OH

and

O O

18.

Above compounds can be differentiated by following reagent:
A. 2-4 DNP (Brady reagent)
B. Tollen's reagent

C. Lucas reagent

D. NaHSO3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VTNAfZ4slnjH
https://dl.doubtnut.com/l/_AAU0WEJXD7dI

OH

C o
OH  PCC (excess) 1 chjl CH Mghe NaBiH
> (A) -qt;' m"-‘(,ﬂ) s ;(C.'J'—'—-J"'CDI

Product (D) will be :

19.

oH OH
lé/ <|:1| — CH,
A
OH
oa
B.
OH
™
C.
OH
é/mt
D.
Answer: B



https://dl.doubtnut.com/l/_5weicCaM1Upr

| @J Watch Video Solution

BH,, THF =mwmmom;=(m

HaOg 011 GHyCly
EHH—CH _— CH2-
H]iﬂ.ﬁtli.}%ﬂ @®) Pyridiniym Chiore Chromate (PCC) s
20. NaBH, HO CH,Cly > ()

Relationship between products (Q) and (S) is:

A. Positional isomer

B. Chain isomer

C. Stereoisomer

D. Functional isomer

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5weicCaM1Upr
https://dl.doubtnut.com/l/_zWpCymehbK7z

21. In the reaction,

[ Al{Hg], benzene, heal . X
0 2, 130, heat '

, the product

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OA6Rj7TtkaD3

22. Rank the following in order of increasing value of the equilibrium

constant for hydration, Kj,yq . (smallest value first).

" ﬁ
|>= O (CHy)3CCCICH,)s

Al<2<3

B.3<1<2

C2<1<3

D.2<3<1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cfNsf1vlXKme

23.
Above conversion can be achieved by :
A.Zn(Hg), HCl
B.NH, — NH, /KOH /A
C.LiAlH,

D.H,/Ni

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zY3qd6TLJ8xn
https://dl.doubtnut.com/l/_0CcIgg8tdmW9

24. Which sequence represents the best synthesis of hexanal ?

CH4CH ;CH 4CH 4CH,CH = 0
Haxmnal 0
Il
(a) 1.CH4CH,CH,; CH;Br + NaC = CH (b) 1.CHyCH,CH,CH = CH, + CH,C OOH
2. H0, H,80,, HgsSO, 2. CHyMgBr, diethy! ether
3. H,0"
4, PCC, CH,Cl,
!
{c) 1.CH,CH,CH,CH,C CH, {d) 1. CHyCHyCHyCH,MgBr + HyG — CH,
| .
2,CH,CO0H 3. LiAlH, 2. H,0 3. PCC, CH,Cl,
4. H,0 5. PCC, CH,Cl,

o Watch Video Solution

0
é —HNOy Ay iz (@)
25.

Product (B) in this reaction is :

’

O



https://dl.doubtnut.com/l/_0CcIgg8tdmW9
https://dl.doubtnut.com/l/_wfvh30JUEr3G



https://dl.doubtnut.com/l/_wfvh30JUEr3G

Answer: C

° Watch Video Solution

CH,OH -::H,n-\\
HO —— 1 HO —— H
H —— oH o, H 0 i
H ——— OH H ——t—— OH
26. CH, — OH CH, — OH

Compound (x) in the above reaction is :

0]
A.Ph—|c|*—CH3
0
5.Ph C_ H
0]
C.Ph—C’H2—|C|'—H
0]

|
D.Ph — CHy, — C' — CH;s

Answer: B

| ﬂ Watch Video Solution



https://dl.doubtnut.com/l/_wfvh30JUEr3G
https://dl.doubtnut.com/l/_frMYEple2lMl

0
[

Product ( C) of the above reaction is :

27.Ph — C — CH, 2% (4) 228 () % (

HCl heat

A.Ph — CO.H
o

B. Ph — |C|' — CO.H
o o

CPh-O-C-H
o

D. Ph — |C|' — CH,OH

Answer: B

H;0°

C)

° Watch Video Solution



https://dl.doubtnut.com/l/_frMYEple2lMl
https://dl.doubtnut.com/l/_nKMUJWZ2R5HZ

()
I
H—C H ,(a) 2% , (B)
2HC]
28. , Product

(B) of the reaction is :

A.Ph — CH; — NO,

B. Ph — CH; — ONO

C.Ph — CHO

D.Ph—O—-N=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Awi8MscQRpWh

8, (A);

0.75 mole %, [100%)
AKCLy Bt 0
29.

Product (A) of the above reaction is (bromination occur not in the

benzene ring) :

0 Br
A. @k}\
0
Br
B.
0
o "
C.
i
C CHy
Nonte

Answer: B



https://dl.doubtnut.com/l/_2zARxBfbHl94

| o Watch Video Solution

f,-.*mumm
Ho |
" drop of H,50,

Tollens test Compound (A) is :

Positive

i
|
CH, —C—CH—
, | CH
OCH, OCH 4
A.
O
T
ﬂ'i;—l:'—(.l‘.-—ﬂHg
OCH,
B.
i
CH —--l:-—CH;, tlrra OCH,
C ocH,

Il
H—C—CH, —CH; —CH — OCH,
|

OCH,


https://dl.doubtnut.com/l/_2zARxBfbHl94
https://dl.doubtnut.com/l/_TMoHkfmnmDDm

Answer: C

0 Watch Video Solution

CigHig —2— (B)

[A) CaHgO
31.

(A) in this reaction is :

Ph CH,
om
A Ph CH,
P /s
/ ~
p. M wh
Ph Ph
:c -’
c CH N CH,

D. both (b) and ©

Answer: D

NHy—NH,
HO [a

, Reactant


https://dl.doubtnut.com/l/_TMoHkfmnmDDm
https://dl.doubtnut.com/l/_Itbl6tGZPvNa

° Watch Video Solution

1-methy| 1-cychohexyl
32 I id lodoform 1-4 DNP

Compound (P) is :

0
ACHy — C -
0
5.CHy — C
0
c.cty - C -
o
0.CHy — C -

Answer: C

C7H140;

+ive ~ive +ve rest with

CH; — CHy; — CH> — C|H — CH;

H
OH

|
CH, — CH — CH; — CH> — CHj3

CH, — CH; — CHy — CHy, — CHy — OH

OH
|
CH — |C — CHs
|
CH3 CH;3

° View Text Solution



https://dl.doubtnut.com/l/_Itbl6tGZPvNa
https://dl.doubtnut.com/l/_NuEPh8dAPXZY
https://dl.doubtnut.com/l/_WDPzAPBAVBx7

33. Correct order of reactivity of following compounds towards

Grignard reagent?

0O 0O

r I : E
cn,u—]:—n H—C—H Ct —@
(1

m ()

AT >II>1III
B.II > 1 > III
CII>III>1T

D.I > 1III > 11

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WDPzAPBAVBx7

CH ——LH—CH —( H!—QH _____'_._Hﬂlﬂ [ﬂ.]r
3 I TeDH, A 2%

OH

, Product


https://dl.doubtnut.com/l/_mxVqfch0ngyL

Answer: B

° Watch Video Solution

0 I
I _KOH
(CHg)4C0 — C — CH; — CHy — -:ln-l OCH,CH,CH3 w00,
OH OCH,

The number of products obtained in above reaction is :

35.

A2

B.3

C.4

D.5


https://dl.doubtnut.com/l/_mxVqfch0ngyL
https://dl.doubtnut.com/l/_ouGCM6Hs46Ik

Answer: A

0 Watch Video Solution

36. What reagent and/or reaction conditions would you choose to

bring about the following conversion?

O
MJ — O—CH == 0 +HOCH,CH,0H

A.1.LiAlH,, 2. H,O
B. H20, H2504, heat
C. H,O, NaOH, heat

D. PCC , CH,Cl,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ouGCM6Hs46Ik
https://dl.doubtnut.com/l/_WCizWCafJhnP
https://dl.doubtnut.com/l/_tXYlem3cMPCf

Ml eRoesd

KH excess 5 8194 }deld ,.

37. , Product

of the reaction is :

)


https://dl.doubtnut.com/l/_tXYlem3cMPCf

Answer: C

° Watch Video Solution

=0

|
HG—O—rZ: — HO

38.

The above reduction can be best carried out by :
A. Clemmensen reduction
B. Wolf-Kishner reduction

C. NG,BH4


https://dl.doubtnut.com/l/_tXYlem3cMPCf
https://dl.doubtnut.com/l/_ZjB7TgeBpKV7

D. None of these

Answer: D

° Watch Video Solution

HgSO4
39.CH3 - C=CH ——— (A)
dil. H,SO4
(1) BH; . THF
CHy,—-C=CH ——
(2)H,0,/HO~

Product (A) and (B) is differentiated by :

A. 2-4-DNP
B. NaOl

C. Na-metal

D. NaHSO;),

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjB7TgeBpKV7
https://dl.doubtnut.com/l/_CYdjLFT66A00

—HEN |, a)bAH, (g ""H m‘“* v (C)
40.

End product ( C) in above reaction is :


https://dl.doubtnut.com/l/_LfyuCzcj2wII

n l

Answer: A

° Watch Video Solution

41. Compound (X) C4HgO, which reacts with 2,4-DNP derivative and

gives negative haloform test is :

0]

||
A.CH; — C — CHy — CHj3

B.CH3 — C|H — CHO

CHj

OH

OH

\
D.CH; — CHy, — CH — CHjs


https://dl.doubtnut.com/l/_LfyuCzcj2wII
https://dl.doubtnut.com/l/_7XuAMhf8b6cz

Answer: B

0 Watch Video Solution

42.When a nucleophile encounters a ketone, the site of attackiis :

A. the carbon atom of the carbonyl
B. the oxygen atom of the carbonyl
C. both the carbon and oxygen atoms, with equal probability

D. no attack occurs as ketones do not react with nucleophiles

Answer: A

o Watch Video Solution

43.The correct order of rate of reaction toward nucleophilic addition

reaction:



https://dl.doubtnut.com/l/_7XuAMhf8b6cz
https://dl.doubtnut.com/l/_90yLUDJztzH4
https://dl.doubtnut.com/l/_D7RsAtwsqugh

[8) 0 0 E

{n) (b e) {d}) (e)

Aa>b>c>d>e
B.a>b>d>c>e
Ca>d>e>b>c

Da>b>e>d>c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_D7RsAtwsqugh

44, The structure

OH
H

would be

best classified as a (an) :

A. Acetal
B. Hemiacetal
C. Hydrate

D. Cyanohydrin

Answer: B

| |


https://dl.doubtnut.com/l/_vpGWsH7Btu1k

[ W Watch Video Solution ]

45. Which of the following pairs of reactants is most effective in

forming an enamine ?

o

||
A.CH3CH>CH + [(CH3)2CH]2NH

o]

Om,_m_m,
B.

o

|
C. (CH3)3CCH + (CH3)2NH

D. None of these form an enamine.

Answer: B

o Watch Video Solution

46. The reaction of Cs HsCH = CHCHO with LiAlH, gives :

A.C¢eHsCHy,CH>sCH>yOH


https://dl.doubtnut.com/l/_vpGWsH7Btu1k
https://dl.doubtnut.com/l/_Ild8QIWMCLSQ
https://dl.doubtnut.com/l/_MNjDOjI3ha9J

B.CsHsCH = CHCH,OH

C. CsHsCH,CH,CHO

D. CsH;CH,CHOHCH,

Answer: A

° Watch Video Solution

Hlﬂ"i '{-I'.!:I

47.

(B) of the reaction is :

(B);

, Product


https://dl.doubtnut.com/l/_MNjDOjI3ha9J
https://dl.doubtnut.com/l/_Lc2ws43Np2k8

Answer: B

o Watch Video Solution

48. Which of following compound is hemiacetal ?


https://dl.doubtnut.com/l/_Lc2ws43Np2k8
https://dl.doubtnut.com/l/_B3SPIdL3CcBq

HO e

A.
H
B.
C.
D. all of these
Answer: D

° Watch Video Solution

LDA CH,I
49. Ph—CHy, —C=N— — T71%, End product of the
THF

reaction will be :


https://dl.doubtnut.com/l/_B3SPIdL3CcBq
https://dl.doubtnut.com/l/_DxPIUxaeIVCe

A.Ph — CH; — CH, — NH,

B.Ph — CHy, — NH,

C.Ph—C]H—CEN
CH3

D.Ph—CH =C =N - CH;

Answer: C

o Watch Video Solution

o

I
50.Ph — CH = CH — C — CH3; — Ph — CH = CH — CO,H

Above conversion can be achieved by :
A. KMnOy, A followed by H *
B.I, / NaOH followed by H *
C.H,/Pt

D. Li ALH,


https://dl.doubtnut.com/l/_DxPIUxaeIVCe
https://dl.doubtnut.com/l/_HIup6eeDvGHR

Answer: B

0 Watch Video Solution

51. Products,

Product of the reaction is/are:

OH

OH

OH
OH


https://dl.doubtnut.com/l/_HIup6eeDvGHR
https://dl.doubtnut.com/l/_86w0LzQCI1xO

C. HCHO

D. Both (a) and ( ¢)

Answer: D

o Watch Video Solution

)
fjﬂsﬂﬁw;

(A) of the reaction is :

, Product

O


https://dl.doubtnut.com/l/_86w0LzQCI1xO
https://dl.doubtnut.com/l/_Vtc2rmrtYJyV

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Vtc2rmrtYJyV

CH,4
OCH, _B'l."'ﬁﬂ_; (A) + CHBry
+

LI}

53. , Product

( C) of the reaction is :


https://dl.doubtnut.com/l/_i7WE7J1gegCq

Answer: B

° Watch Video Solution

M 139" , (4) + 2 Glycol
54. |

Product (A) of the reaction will be :

Al
B. s
c. =

D. s

Answer: C


https://dl.doubtnut.com/l/_i7WE7J1gegCq
https://dl.doubtnut.com/l/_xJ3EfLB6iO9S

0 Watch Video Solution

O

R—-NH;
55. R — C’ H —— R — CH = N — R. This reaction gives best

yield at :

A.pH1-2

B.pH4-5

C.pH10-11

D.pH 13 - 14

Answer: B

o Watch Video Solution

56. An organic compound having the molecular formula CsH;¢O on

being heated with I, and dilute NaOH gives a yellow precipitate. The


https://dl.doubtnut.com/l/_xJ3EfLB6iO9S
https://dl.doubtnut.com/l/_qZlyCFG209o7
https://dl.doubtnut.com/l/_BZ7zbDwNdFqD

expected compound is :
@_ P
A. O

B.CeHsCHOHCHj;

CH:‘@_ CHzDH
C.

Answer: B

o Watch Video Solution

57. Compound A (molecular formula C3HgO) is treated with acidifed
potassium dichromate to form a product B (molecular formula
C3HgO). B forms a shining sliver mirror on warming with ammonical

silver nitrate, B when treated with an aqueous solution of


https://dl.doubtnut.com/l/_BZ7zbDwNdFqD
https://dl.doubtnut.com/l/_clTlcGQ5rsv7

NH;NHCONH, and sodium acetate gives a product C. Identify the

structure of C

A CH;CH,CH = NNHCONH,

B.CH; C = NHHCONH,

|
CHj3

C.CH3 C = NCONHNH,

|
CHs3

D.CH3CH2CH = NCONHNH,

Answer: A

° Watch Video Solution

58. In the reaction, the acid obtained will be :

CH;CHO — HCN — CH;CH(OH)CN =% cH;CH(OH)COOH

A. D-isomer

B. L-isomer


https://dl.doubtnut.com/l/_clTlcGQ5rsv7
https://dl.doubtnut.com/l/_lvYfQkAk6Qz7

C. (80%D + 20%L) mixture

D. (50%D + 50%L) mixture

Answer: D

o Watch Video Solution

59.In the following sequence :

NaCN Ni/H acetic anhydride
CH3CH,Cl ~= (3) —— (i4) " (444), Product (iii) is -

A. CH;CH,CH,NH,

B. CH3CH,CH,CONHCH,

C. CH;CH,CH,NHCOCH,

D.CH3;CHy;CH,CONHCOCH;

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lvYfQkAk6Qz7
https://dl.doubtnut.com/l/_6payfXUNolrP

I
O L=l en H40®
< “ioa @

(8]
60.

Product (G) is :

i
0 -OH
A. <0@
H0:©/502H

HO - CH
B. 2
C. HO

C-H

D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6payfXUNolrP
https://dl.doubtnut.com/l/_N75pv4D2TdiI
https://dl.doubtnut.com/l/_MlOfAYCoe1Ep

61. Carbonyl compounds can generally be converted to hydrocarbons
by :

A. H, /Pt

B. LiAlH,

C.N:Hy — KOH /A

D. KoCroO7 — H2 504

Answer: C

O Watch Video Solution

1) 04
(2) 0
(3) .:ifiﬁﬂ4

H
62. (4) H , Product

(A)is:


https://dl.doubtnut.com/l/_MlOfAYCoe1Ep
https://dl.doubtnut.com/l/_ynca8rJczdaK

Et


https://dl.doubtnut.com/l/_ynca8rJczdaK

Answer: A

o Watch Video Solution

63. Which statement about the aldol condensation is correct ?

A. A Lewis acid is commonly used as a catalyst

B. The initial step is probably the formation of a carbanion

C. A Lewis base is employed to induce carbocation formation

D.The carbon chain is lengthend through the elimination of 1

mole of water.

Answer: B



https://dl.doubtnut.com/l/_ynca8rJczdaK
https://dl.doubtnut.com/l/_jSl1ogwdk9lU

0 Watch Video Solution

64. A compound gives a positive test with I, / NaOH and is extracted
from benzene by saturated NaH SOjs. It may be :

A. CH3(CH2)4C’HO

B. CH3(CH2)3COCH3

C.CH;CH,COCH,CH,4

D. CH3(CH,),CH,OH

Answer: B

° Watch Video Solution

65. Which of the following compounds on reaction with excess

CH3MgBr and subsequent hydrolysis will give a tertiary alcohol?


https://dl.doubtnut.com/l/_jSl1ogwdk9lU
https://dl.doubtnut.com/l/_KO6OpVI12PQY
https://dl.doubtnut.com/l/_JbEr0RErwXQ6

A C,H,CHO
B. Oy H;CO,CH
C. C, H;COOH

L
O

D.

Answer: B

° Watch Video Solution

Reactant (A) and (B) is :

A.Ph—CHy —CH =0+ NH, — OH


https://dl.doubtnut.com/l/_JbEr0RErwXQ6
https://dl.doubtnut.com/l/_iayzDXjVlPnU

B.Ph— CH = O + NH; — OH
0]
|

C.Ph— C — CH; + NH, — NH,
0]

|
D.Ph— C — CH; + NH, — OH

Answer: D

o Watch Video Solution

0
| Ca(OH),
67.CH; — C — OH —— (A)
A

Product (A) is :

o Watch Video Solution

68. Which of the following does not form a stable hydrate on addition

of H,O?



https://dl.doubtnut.com/l/_iayzDXjVlPnU
https://dl.doubtnut.com/l/_7ijbLHIJr9JL
https://dl.doubtnut.com/l/_eKuteah9IrxY

0 O
mol Ll

A.

B.

C.
0

D.

Answer: D

° Watch Video Solution

69. Consider the following sequence of reactions.

H
Ketone A — 1 GalisMebr g Hi50s het o~ 105 , /\3/\ + )%0
2.Hz0 -H;0 2 Za, Ha0


https://dl.doubtnut.com/l/_eKuteah9IrxY
https://dl.doubtnut.com/l/_vhTBH4xQN3h2

The ketone (A) is :
/E(
/\nﬂ/\
\/\{lj‘/
0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vhTBH4xQN3h2

70. In the reaction,

@ + CH;COCH, E’“”hﬁf“?”—; X,

, the product

(X)is:



https://dl.doubtnut.com/l/_BiLyYNoTxFtz

Answer: C

O Watch Video Solution

71. The conversion of acetophenone into benzoic acid can be achieved

by its reaction with :

A. sodium hydroxide followed by acidification

B. iodine and sodium hydroxide, followed by acidification

C. hydroxylamine followed by reaction with Hy,SO4

D. m-chloroperoxobenzoic acid

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BiLyYNoTxFtz
https://dl.doubtnut.com/l/_DVyaVxVeFfJL

72. In which of the following compounds the methylenic hydrogens
are the most acidic?

A.CH;COCH,CHj,

B.CH;CH,COOC,Hj

C.CH;CH,CH(COOC,Hs),

D.CH;COCH,CN

Answer: D

° Watch Video Solution

73. Which is the major product of the following reaction ?

NH yOH

0 —F

H


https://dl.doubtnut.com/l/_xpPUP4fOty6B
https://dl.doubtnut.com/l/_wJH1KNjCGxg5

C.
OH
r
N
D.
Answer: D

° Watch Video Solution

o

[ SOCI,

74.Ph — C — OH 2% (4)

> (B
Pd—BaSO4 ( )

Product (B) is :


https://dl.doubtnut.com/l/_wJH1KNjCGxg5
https://dl.doubtnut.com/l/_cdgycfutwjC5

(@)

|
A.Ph—-C—-H

B.Ph — CH, — OH

C.Ph— CH, — Cl

D.Ph — CH = CH,

Answer: A

o Watch Video Solution

75.The presence of unsaturation in organic compounds can be tested
with :

A. Schiff's reagent

B. Tollen's reagent

C. Fehling's reagent

D. Baeyer's reagent


https://dl.doubtnut.com/l/_cdgycfutwjC5
https://dl.doubtnut.com/l/_vSTCZFN40IQE

Answer: D

0 Watch Video Solution

76. Which of the following gives iodoform test?

A.CH;CH,OH
B. Co H;CHO
c. (CH,OH),

D. None of these

Answer: A

o Watch Video Solution

77.Which of the following btea-keto carboxylic acid does not undergo

decarboxylation on heating?


https://dl.doubtnut.com/l/_vSTCZFN40IQE
https://dl.doubtnut.com/l/_K2KEd9wdsV4p
https://dl.doubtnut.com/l/_VjP1AAR7x0cp

0,H

A.
/T

B.
CHy

C.

D. None of these

Answer: A

o Watch Video Solution

o]
“ PCC H a
__HaCmCiMgh ,(g) NHeCG/MZ0 ,(c
HOCH ;CH ,CH, — C— OCH ,CH; ———(A) a (B) )

[1]
il
ROH HIO_. E':C ho [D}
78 "o prdes

Product (D) is :

[o]

Il
0—C—CH, 0
| I
A, HC=CH— CH— CH, —CH, —C—OH
.


https://dl.doubtnut.com/l/_VjP1AAR7x0cp
https://dl.doubtnut.com/l/_vP7Zkxsu0OO9

H,C = CH—CH, — ri' —COH

o o
I Il
HyC == CH— ? —CH; —CHy; —C—0—C—CHy

C.

i
H,C = CH—CH, — CH—CH; —C—0 —H

D. o

Answer: A

° Watch Video Solution

79. The compound shown in the below undergoes racemization on

reaction with aqueous acid.


https://dl.doubtnut.com/l/_vP7Zkxsu0OO9
https://dl.doubtnut.com/l/_3GQwO4r0Gtp1

Which of the following structures best represents the intermediate

responsible for this process ?

OH
o



https://dl.doubtnut.com/l/_3GQwO4r0Gtp1

O

e
OH
C.
H’E— OH
=
HO OH
D.
Answer: C

o Watch Video Solution

80. The final product of the following sequence of reaction is :

Mg H,C=0 I{30+
\ \
7 7

heat

~

(CH30),CHCH,CHyCH;Br

0]
||
A.CH3;0CCH>sCH>sCH>sCH>sOH
(0]

|
B.CH3;CCH>,CH>sCH>CH>sOH


https://dl.doubtnut.com/l/_3GQwO4r0Gtp1
https://dl.doubtnut.com/l/_LahI9CyPT4iL

)

I
c. HCCH,CH,CH,CH,OH

o o

I |
p. HCCH,CH,CH,CH

Answer: C

o Watch Video Solution

81. The amino ketone shown below undergoes a spontaneous
cyclization on standing. What is the major product of this

intramolecular reaction ?
0
CCH,

CH,CHNH,

l
CH,


https://dl.doubtnut.com/l/_LahI9CyPT4iL
https://dl.doubtnut.com/l/_jq9qFwaE2ZGJ

A.
CHy
N
|
B. CHy
CH,
,,Hz
C.
CH4
Y
CH,
D.
Answer: D

° Watch Video Solution

82. Compound (A) CsH120 is optically active. Compound (A) give

negative Tollens test and positive test with 2-4-di-nitro phenyl


https://dl.doubtnut.com/l/_jq9qFwaE2ZGJ
https://dl.doubtnut.com/l/_nqQ4TvwIoag6

hydrazine. Identify A.

Il
CH; — C—CH, — CH —CH,

H—C—CH, —CH—CH,

C CH,—CH,

i
CH, — C —CHj — CHy —CH, —CH,

D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nqQ4TvwIoag6

(ﬁ‘j + /ﬂ/ B0 L (A);
f (2VH,0%  9om

83. , Product


https://dl.doubtnut.com/l/_hCfip9JtxpO4

Answer: B

° Watch Video Solution

@—Mgar NIt Cl O (conc) KOH (4 molar
O:o—_. () ML, (0) tAeme) , p) MM mik) (g
84.

Product (Q) will be:


https://dl.doubtnut.com/l/_hCfip9JtxpO4
https://dl.doubtnut.com/l/_iovI7S8yGnPK

OH

Answer: B



https://dl.doubtnut.com/l/_iovI7S8yGnPK

| ¥ Watch video Solution

CrO,C conc. KO
85. Ph — CH, %% (4) %% py _ cH,0H + (B)

Product (B) of above the reaction is :

A.Ph — CO,H

B. Ph — CO;

C.Ph— CHO

D. Ph — CH;
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iovI7S8yGnPK
https://dl.doubtnut.com/l/_ZyLta64rQQI9

CHO

(i) KCN

H i OH

CH, — OH

86.
obtained in the reaction is :
A. Diastereomer
B. Racemic
C. Meso

D. Optically pure enantiomer

Answer: A

iy H*

, Product

° Watch Video Solution



https://dl.doubtnut.com/l/_09nUrgaSZiXh

QO
g NHaOH |, (4)—H' () A" ()

87. , Product (

C) of the reaction is :

OH

e = &


https://dl.doubtnut.com/l/_z9NJ5SbVfF36

C.
N OH
r
H
D.
Answer: B

o Watch Video Solution

DE' N, CH,MgBr y (A) —29, (B} +(C)
H,0%
88.

Product (A) and (Q) is :

0

I
A D—C—ma:c}tl,


https://dl.doubtnut.com/l/_z9NJ5SbVfF36
https://dl.doubtnut.com/l/_ijEy8eBMtmPl

C

Drow-geion,

Answer: C

° Watch Video Solution

OH 0

|  NH—C—
Ph—CH—CH, "¢, (4) 2 : RN

89.

Product (B) is :

o
Ph—C = N—C—NH—NH,


https://dl.doubtnut.com/l/_ijEy8eBMtmPl
https://dl.doubtnut.com/l/_NcdwtCVMCjSj

Ph—C = N—NH—C—NH,

0
Il

Ph—CH == N—N— C—NH,
|

C CHs
0
D Ph—CH = N—C—NH;,
Answer: B

o Watch Video Solution

90.

Product (P) is :

A. Hemiacetal

v [P



https://dl.doubtnut.com/l/_NcdwtCVMCjSj
https://dl.doubtnut.com/l/_p9RQxfhVsKBr

B. Acetal

C. Alcohol

D. Alkane

Answer: B

o Watch Video Solution

OMe
( Oxynlly|l catbon

o1. , Product

of rearrangement is :


https://dl.doubtnut.com/l/_p9RQxfhVsKBr
https://dl.doubtnut.com/l/_lXVrdhgrOLEr

OMe
0
: OMe
@& O
OMe

@f}:m’
OMe

D.

A
B.
C.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lXVrdhgrOLEr

o0 Keq \ _CN
+ HCN === R—C
)’I\ ~
R R R
Reactant Ktq
PhCHO a
0
)J\/ ’
i
[
8]
CH g H ¢
92. 3

The correct order of decreasing value of K is :

Aa>b>c>d
B.d>a>b>c
Cd>b>a>c

D.d >a >c>d

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zbvIorECjGZI
https://dl.doubtnut.com/l/_30zj8G7Ybam4

93. Product (B) of the given reaction is :

0

NH

Me

> (A) =+ (B)


https://dl.doubtnut.com/l/_30zj8G7Ybam4

Answer: B

o Watch Video Solution

94. End product ( C) of the reaction is :

0

(A 2rhMigh

Hy0®

Ph
Ph

PN

At

B.

- H':{_\Dll
o T
0
OH
0 OH
Pk
Ph
A O

(B)



https://dl.doubtnut.com/l/_30zj8G7Ybam4
https://dl.doubtnut.com/l/_0eJb2QuxAIwX

Answer: B

o Watch Video Solution

.‘H_“__,.Jp does not undergo self aldol condensation
(A)

(4]
" HeO : i
95 Cy by H""‘""---...i Ph — CHO + Zb —'-'1‘5---. oxalc ackd

Compound (A) will be :
APh—-C=C-C=C-CHO
B.Ph—-C=C—-CH=CH-CHO
CPh—CH=CH-C=C-CHO

D.Ph—CH =CH —-C =CH - CO,H

Answer: C



https://dl.doubtnut.com/l/_0eJb2QuxAIwX
https://dl.doubtnut.com/l/_prouqawKOYHR

| o Watch Video Solution

0
>—OH  Product;

* (2% ywld)
Catajyst TeOH
0, th
[modecular seves)

96. , Product

of the reaction is :

o e
0O 0O

X

>—q 0—=<

!
)

>_0V0 —<


https://dl.doubtnut.com/l/_prouqawKOYHR
https://dl.doubtnut.com/l/_pG3EJHvE6MQm

Answer: C

o Watch Video Solution

97. Which pair of reactants compounds may be used to make given

acetal ?


https://dl.doubtnut.com/l/_pG3EJHvE6MQm
https://dl.doubtnut.com/l/_pUwyKVDJHt0X

CH, — OH
+ |
CH, — OH
A.
8]
D
OH
B.
Q
(018}
N o
C.
[¢]
é ! >C0|{
(8131
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pUwyKVDJHt0X

1
) )
gg, ‘Al

are isomers , Isomer (B) is :

up

A
A<
H
B.
H
OH
C.
CH,
H,\kr<z]
OH
D.

Answer: B

H* .
2 (B (A & (B)

, (A) & (B)


https://dl.doubtnut.com/l/_IgqIRelc8Xpf

o Watch Video Solution

OH
/’J\\- P, (A)

S OH P gy

99.

(A) and (B) is differentiated by:
A. NaH
B. 2-4 DNA

C.Tollen's reagent

D. NGHSO:;

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IgqIRelc8Xpf
https://dl.doubtnut.com/l/_30MfSLTVffKP

100. Which of the following pairs cannot be differentiated by Tollen's

reagent ?

A. Benzaldehyde and benzyl alcohol

B. Hexanal and 2-hexanone

C. 2-Hexanol and 2-hexanone

D. Pentanal and diethyl ether

Answer: C

o Watch Video Solution

101. An optically active compound A (CgH15,0)gives positive test with

2,4-D NP, but negative test with Tollen's reagent. Compound A is

o

|
A.CH; — C — CH, — CH, — CH, — CH;


https://dl.doubtnut.com/l/_B17YRof9kTNy
https://dl.doubtnut.com/l/_T3xwv4yvy3uM

(0]
|
5.H O~ OH — CH, - CH, - CHy
CHs3
0]

C.CH; — C_CH - CH, — CH,
o,
O
D.CH; — CH, — C_CH - CH,
o,

Answer: C

o Watch Video Solution

102. Compound (A) CgH503, when treated with I, in aqueous
sodium hydroxide gives yellow precipitate. When A is treated with
Tollens reagent no reaction occur. When A is hydrolysed and then
treated with Tollens reagent, a silver mirror is formed in test tube.

Compound (A) will be :

@)

|
A.CH; — C — CH, — CH, — C’\H — OH
OCHj;


https://dl.doubtnut.com/l/_T3xwv4yvy3uM
https://dl.doubtnut.com/l/_gUh4uNW7Gol9

o OCHj

|| |
5.CH; ~C ~ C -~ CHy
OCH;3
(0]

|
C.CH; — C — CH, — CH(OCH;),
]

|
D.CH; — C — CH, — CH, — CH(OCHS),

Answer: C

o Watch Video Solution

CH; —CH; —CO,H — &, 4 Ny NH; 5 hew 0y

BatO,

CH, — CH, — CO
103, 2 : H

( C) obtained is :

A.CH; — CH = CH — CH>

KOH

, Product


https://dl.doubtnut.com/l/_gUh4uNW7Gol9
https://dl.doubtnut.com/l/_t8agBSCDx3BX

r"l- — :'l"ltlr'\-

Answer: C

° Watch Video Solution

104. Which of following does not react with NaHSO; (sodium
bisulphite)?
o)
|
ACH; —-C - H

o

1
B.CH; — C — Et



https://dl.doubtnut.com/l/_t8agBSCDx3BX
https://dl.doubtnut.com/l/_llCLRLDp7zBo

o
/]
C.Et—C — Et
o

i
D.Ph — CHy — C — CHj

Answer: C

° Watch Video Solution

CH, — CH, — CHy — NH;

—r

o

L
Q

, Product


https://dl.doubtnut.com/l/_llCLRLDp7zBo
https://dl.doubtnut.com/l/_BH3BbaERplAH

C.
©@
N
|
H
D.
Answer: C

o Watch Video Solution

0 0
U +CH, = CH—CH, — Br —"%— (A4) ;
75%)
106. , Product


https://dl.doubtnut.com/l/_BH3BbaERplAH
https://dl.doubtnut.com/l/_GCY0LiS2a9f3

CH, — CH = CH,

Answer: B

° Watch Video Solution

CO,H

i1} Me-Lilexcess) {A) L2 » {B) + CHI,
- {2) HCL/H,0 NaGH
107. , Product

(B) in this reaction is :


https://dl.doubtnut.com/l/_GCY0LiS2a9f3
https://dl.doubtnut.com/l/_SVja4YXknXrD

Gﬂzﬂa

B

A.
B.
CO,Na
C.
CD-‘.Hl
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SVja4YXknXrD
https://dl.doubtnut.com/l/_uoXjG8NXInNw

[ D
Ry o'

Arrange the following reagent in the correct order in which above

108.

transformation is carried out :
A.KOD /D50, HT /A, LiAlH,
B.H™ /A, KOD /D50, LiAlH,
C. KOD /D0, LiAlH,, HT /A

D.LiAlH,,H* /A, KOD/D,O

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_uoXjG8NXInNw

0
Il )
CHy —C—H— M 04y M0 (g ——(C) — A gy 1%, HeHO + (B)

109.

Compound ( C) can show geometrical isomerism. Product (E) of the

reaction will be:

(0]
|
A.CH; — C — CHj,

@)

||
B.CH3; —CH, —C — H

C.CH3; — CHO

D. HCHO

Answer: C

o Watch Video Solution

110. Arrange in their increasing order of equilibrium constants for

hydration ?


https://dl.doubtnut.com/l/_tT0MgeF4WURI
https://dl.doubtnut.com/l/_YQhNTBTPVEQA

O o O

[ I I |
CHy —C—CHy;, CHy —C—H, CHy—C—CH,—C, H—C—H,

(A) (8) () =}
O
I
Cl—CH; —C—H

[E}Y

AA<B<C<D<E

BA<C<B<E<D

CA<C<E<B<D

DC< A< B<FE<D

Answer: B

° Watch Video Solution

111. End products of the following sequence of reactions are:

O
X,
ﬁ _C},I] IH

1a

0


https://dl.doubtnut.com/l/_YQhNTBTPVEQA
https://dl.doubtnut.com/l/_EW277AmKJo3f

4]
yellow ppt. of CHI,, q
A COOH
0
yellow ppt. ufcm.,q
CHO
0
yellow ppt. of CHI,, U
yellow ppt. of CHI, g“

B.

Answer: C

o Watch Video Solution

{11 ExDNa .
Hl. - l:l"! : o m — _ﬁ ¥ ['F] ¥
||
(2)CHy —C—Cl
(3) HyO® fa
112. , Product

(P) of the reaction will be :

@)

[
A.Ph—-CH, - C — H


https://dl.doubtnut.com/l/_EW277AmKJo3f
https://dl.doubtnut.com/l/_UaO4WLOOuSiN

0]

|
B.Ph — CH, — C — CHjs

0]
CPh_CH_C_H
o,
0]
D.Ph—CH—g’—C’Hg
o,

Answer: B

° Watch Video Solution

113. a

of the reaction are :

A. Racemic mixture

B. Diastereomers

(i) NaCN

-_._H._—..p

() H 50,

P

. Products


https://dl.doubtnut.com/l/_UaO4WLOOuSiN
https://dl.doubtnut.com/l/_UYdgijnaWQ7I

C. Meso

D. Mixture of meso compound and optically active compound

Answer: B

o Watch Video Solution

Hls'ﬂl_l_ {B} LiAlH, " {C}

dil. H,50, r recemic mixmure

(A)
14,

. reactant (A) is :

A CH; — C =CH

B.HC =CH

C.CH; —C =C — CH,

D. Ph — CH = CH,

Answer: C

| &~


https://dl.doubtnut.com/l/_UYdgijnaWQ7I
https://dl.doubtnut.com/l/_r1VurhCbgDqs

[ @ Watch Video Solution

o

| NaNO
15.CH3;CHy, — C — CH; i—> , Major product of this reaction is :

0]
I
Aam?H—C—Om

NO
0]
I
B.CHs — CH, — C — CH =N — OH

N—OH
C.
CH —cug—'i —CH,
N—OH
D.
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r1VurhCbgDqs
https://dl.doubtnut.com/l/_slGNdJTZuoWR

MM, OH

(DH" .4
(3) LIAMM,
116.

T
 00@0
Noedoe;
D. ©I> &

Answer: A

»A)+ (Bl

. Product

o Watch Video Solution



https://dl.doubtnut.com/l/_3O2BjDGmHr4e

+ ﬂ'[,Hﬂ: —‘"@-—""A

mitresTeed fisne

CH = CH— NO,
ey

OH

CH==CH — NO,
Q ;
-

B Q

= CH—NO,
HO” S

C.
OH
é:H —CHy — NO,
yes
o
D.
Answer: A

44, p).
a oM,

. Product

° Watch Video Solution



https://dl.doubtnut.com/l/_GVGHCs0mm3KM

. Product


https://dl.doubtnut.com/l/_GVGHCs0mm3KM
https://dl.doubtnut.com/l/_cmCqACyrp5SX

Answer: A

o Watch Video Solution

0
'm\/\.)l\/\/':i KL, (4),
{Zmale )
119. _ . Product
(A) is
/\j\/“%
A.
[
>—c—
B.
0


https://dl.doubtnut.com/l/_cmCqACyrp5SX
https://dl.doubtnut.com/l/_7doxzR5pOuv6

Answer: B

° Watch Video Solution

(0] OH
| |
20R-C-R<—~-R-C —R
(catalyst ) |
CN

Which of following can be used as a catalyst in the above reaction?

A.Cl™
0

I
B.CH; —C — O~
CEt—0

D. HSO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7doxzR5pOuv6
https://dl.doubtnut.com/l/_oHZa8Yt9tjWj

121. Arrange the following carbonyl compounds in decreasing order of

their reactivity in nucleophilic addition reaction.

COCH, CHO
(i) {m (iid) (tv)

At > 111 > 1 > w

B.12 > 1 > v > w1

C.i40 > 4% > 1 > v

D.212 >t > v > 1%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oHZa8Yt9tjWj
https://dl.doubtnut.com/l/_q6uDHsnTH8jp
https://dl.doubtnut.com/l/_4tDkE0EJyRfY

122. The following reaction were carried out

O V\f" _1pfhaciCy

The finalproduct formed in the above reaction sequence is


https://dl.doubtnut.com/l/_4tDkE0EJyRfY

Answer: B

° Watch Video Solution

5%
B MCSG—C-JCHE—E‘-’—D Mc,C—C—CHz—Br

(ﬂ'.l|5-l-ﬁ

OH

Me;C —CH— 3 1—::: M-C]_C —CH — CH: -— Br

123.
Yield of each step as actually carried out in the laboratory is given
above. What is overall yield of reaction?

A.042

B. 0.31

C.0.21

D.0.6

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_4tDkE0EJyRfY
https://dl.doubtnut.com/l/_GIAYfMhW3RMP

5%
. Meg,C—C--CH!—G-J—r MeyC — C— CHy — Br
()| S4%

DH

Me,C — éo}‘ﬂg 4— Me,C — CH CHy — Br

124.
What is the appropriate reagent to carry out above synthesis, i.e, A, B,
C respectively are :

A.Bry/H™' LiAlHy, H®

B.Bro/H*Y, NaBHy, HO~

C.NBS, AlCl3, HO ™

D.Bry /HO ™, BFs, HO~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GIAYfMhW3RMP
https://dl.doubtnut.com/l/_D0z70xzi9b8O

OH

@ A () O o) T ) WO
{High remp

& pressure)

125, Product (E)is: , Product

(E) is :

A. Nylon 66

B. Nylon 6

C. Styrene

D. Polystyrene

Answer: B

o Watch Video Solution

126. Methyl vinyl ketone on reaction with LiCuMe, gives a major

product, whose structure is :


https://dl.doubtnut.com/l/_dtjcGv9SDZoA
https://dl.doubtnut.com/l/_oeZrPJe6pOBM

Answer: A

o Watch Video Solution

127. Which of following is in capable to show iodoform test ?

(8]

A.


https://dl.doubtnut.com/l/_oeZrPJe6pOBM
https://dl.doubtnut.com/l/_nq4Q1vEL3mYB

OH

|
B.Ph — CH = CH — CH — CH;

OH
H,C = CH CH,

o
H Il
CHy — C —CHy
D
D.

Answer: C

o Watch Video Solution

0
I I (NH. );€05

€1 5 G0y Na
CH, —C—CH, —CH, —C—CHj;- P (A—— )

Ummapor)

128.

Product (B) of above reaction is :

o

M


https://dl.doubtnut.com/l/_nq4Q1vEL3mYB
https://dl.doubtnut.com/l/_METMuzaCSAiP

Cl

M
B.
Cl
@4
N
C.
oK
N cl
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_METMuzaCSAiP

CO,EL
lﬂ H O
—_3 AP
Et0,C
129. 0 , Product
obtained is :
0
i €O, Bt
A. 0
0O
O


https://dl.doubtnut.com/l/_b8ir5RRBnebf

OH

0

D. None of these

Answer: B

° Watch Video Solution

LiAlH, H®
130. (A) i (B) — Diastereomers
Symmetrical A
Ketone
Reactent (A) is :
(0]

Acm—b—cm
0]
acm—g—cm—cm
(0]

|
C.CH; — CH, — C — CH, — CHj


https://dl.doubtnut.com/l/_b8ir5RRBnebf
https://dl.doubtnut.com/l/_1GTnlxxEaOm4

Answer: C

o Watch Video Solution

OH
0 . —H
+x LAAIH, —‘ﬂa—”l“—:.l + Li* and AI®* saly
(90% yield)
Cyclobutenone Cyelobutanol

131.

Value of x in above reaction is :

A1l

B.2

C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1GTnlxxEaOm4
https://dl.doubtnut.com/l/_68uxfgwGS3vX

(4) 0L, () Ha20, (C)—Eﬂo.—l(DH[EJ—mEl—aCH,—-N;C

(0)—30%2_,(F) """‘['ml":""‘ +(G) “' () —ala L>_<
132.

Molecular weight of compound (A) is :
A. 58
B. 120
C. 60

D. 182

Answer: A

° Watch Video Solution

o

aqueous acid

|
133. PhyCH — C — H ———— (A) + enol + aldehyde
81% 2% 17%

Product (A) of above reaction will be :


https://dl.doubtnut.com/l/_68uxfgwGS3vX
https://dl.doubtnut.com/l/_pVQtTJ1QOool
https://dl.doubtnut.com/l/_X9yqdSlkQRJv

A.Ph—|C:CH—O
Ph
OH

B. PhoCH — Cle
OH

C. PhoCH — CH — OH
0]

|
D. PhyCH — C — CH,

Answer: C

o Watch Video Solution

134. Which of the following will form stable hydrate ?

A.CCIl3CHO (Chloral)

co
AN
CO(Ninhydrin)
co”

B.
C.(CF3),CO

D. all of these


https://dl.doubtnut.com/l/_X9yqdSlkQRJv
https://dl.doubtnut.com/l/_fZ62jsGGJQry

Answer: D

o Watch Video Solution

135. The pH at which maximum hydrate is present in an solution of

oxaloacetic acid :

0 O O
i I
H—-0—-C—C—CH,—C—0—H

pK, = 2.2 pK, = 3.98
A.pH=0
B.pH =12
C.pH=4

D.pH=6

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_fZ62jsGGJQry
https://dl.doubtnut.com/l/_YXmPJlYhrXeG

136. Arrange their stabilities of given gem-diols in decreasing order.
OH

0¥ 3
- " (:'i”” |—><I:JII
{IlE HI“‘“{}” (1 {nn ST OH

Al>II>III

B.III > II > 1

C.I>1III>1II

D.IIT > 1> 11

Answer: A

o Watch Video Solution

137. Maximum hydration takes place of :

o

I
A.CF,CCFy

o

|
B.CH3CCHj


https://dl.doubtnut.com/l/_wIr3h0vZEpKG
https://dl.doubtnut.com/l/_cwyD2P1QwCae

0]
I
C. CH3‘CH — CCH;
Cl
0]
|
D. O HsC CyHs

Answer: A

o Watch Video Solution

138. The conversion, PhCN — PhCOCHj3, can be achieved most
conveniently by reaction with:

A. CH3MgBr followed by hydrolysis

B. I2 — NaOH, CHgI

C.dil. H,SO, followed by reaction with C'Hy N,

D. LAH followed by reaction with CH3I

Answer: A

| o WMiakdl .\t daa ol ikt



https://dl.doubtnut.com/l/_cwyD2P1QwCae
https://dl.doubtnut.com/l/_ZEK4X89ZF4Vq

 { __vYvailll VIUCUVU JUVIUVLIVII

i
; AN
U | Ay e
2 ()
H-0

In the above reaction, product (B) is :

139.

o, -

|

A
B.
C.

Oﬂh OH


https://dl.doubtnut.com/l/_ZEK4X89ZF4Vq
https://dl.doubtnut.com/l/_CDsgxKJsbZuj

Answer: B

o Watch Video Solution

A,

1
(A)—

1
» (B =
140.

Structure of Ais :


https://dl.doubtnut.com/l/_CDsgxKJsbZuj
https://dl.doubtnut.com/l/_Z8LMS8VtZBLb

Answer: D

o Watch Video Solution

.A.
N/
141. 0

0 —2p HCHO + (A) Ty (p)

Product (B) is :


https://dl.doubtnut.com/l/_Z8LMS8VtZBLb
https://dl.doubtnut.com/l/_JByDLAUjfCkJ

Il
A Ph—NH—C—CO,H

i
Ph —NH — C- Cl1, — CO,H

B.

Answer: B

o Watch Video Solution

CO,H

142.

To carry out about conversion, arrange the following reagents in


https://dl.doubtnut.com/l/_JByDLAUjfCkJ
https://dl.doubtnut.com/l/_7gxfZ8MHtWRI

correct order.

0,/Zn EtONa / EtOL1/A NaOCl H
in o oY 4

Al—-3—-2—14
Bl1—-2—+4—3
Cl—3—>4—2

D1 -2 —+3—>14

Answer: D

° Watch Video Solution

HOCH,

[#]
! ¢
- _ - CH 3~ C~CH 0] N
H,C = CH-CH, CH, ? OH Fon L (A) g 45 (B) + HCHO
CH, - CH
143. ! !
Product (B) is :
o CH,~ 0. ,CHy
I | [§
H—C—CHy —CH, —C — 07 “gH,

A e


https://dl.doubtnut.com/l/_7gxfZ8MHtWRI
https://dl.doubtnut.com/l/_sOT9P3X7rYFJ

O
I ~O -CHy
H—C-c—cal,—¢ ¢

B B’ o7 “cH,

o CH;—O. CH;

] |
H—0—C—CHy— CH, —C

C.

C
AN
o Cily

Il O CHy
H—C—cH,—¢ ¢

B’ 07 “cH,

Answer: A

° Watch Video Solution

Br
ﬁ H CHO ) CHO
o =0T =0
144. : :

Identify appropriate reagents for the above reaction :

A.a = Bry /CCly, b = aq. KOH
B.a= Bry/H",b=0aq. KOH
C.a=Bry/H" b= alc. KOH

D.a = Bry/JOH  ,b = aq. KOH


https://dl.doubtnut.com/l/_sOT9P3X7rYFJ
https://dl.doubtnut.com/l/_FyOwogbbywaV

Answer: C

o Watch Video Solution

OH OH
PhiHO (X1
H* o
Mie Me
145.

(X) of this reaction is :

, Product

Fh

|
CH
. /A/Q\A\


https://dl.doubtnut.com/l/_FyOwogbbywaV
https://dl.doubtnut.com/l/_AaQbN4haX3bJ

Answer: B

o Watch Video Solution

146.The K., values in HCN addition to following aldehydes are in the

ot oo

Med 2
(1) (1 {11

order:

Al >1II>1III

B.IT > IIT > 1

CIII >1>11

D.II > 1> III

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AaQbN4haX3bJ
https://dl.doubtnut.com/l/_c4sngk9Ynl38

H
K, O
(1) CHy—(ON === A +ien

CH,
OH . o
(2) 'II:H:,—(E—CN e /]‘\ +HCN
| H
147. H

Relation between K; and K, is:

A K, = K,

B.K; > K,

C.Ky > K;

DK, = K, = 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MUCfCEh0gbb1

148. Which of the following is correct for the reaction ?

+Hm pll-".-‘mlﬂ " {A}

A. A'is cyanohydrin

B. Nucleophilic-addition reaction

C. The above reaction is not shown by alkenes

D. All of these

Answer: D

° Watch Video Solution

149. Which of the following compounds (¢ through v) should not be

classified as an acetal?


https://dl.doubtnut.com/l/_HYJkGVgceJa7
https://dl.doubtnut.com/l/_oh9PE4fMNk59

OCH,

H
(ii) (iif) (iv) v)

N eolo clevalrs

A.ii and iii
B.iv
C.i

D. none (they are all acetals)

Answer: D

° Watch Video Solution

150. In which of reactions final product is NOT a ketone :

A CHy —C = C— H—2 04y Sl (g) B850u_, ()
. HaS0

B nfc—cfu;““—'lv(chg‘—’—“’%(nwi‘;%—w!}&m

C 9 R ._,gﬁou;‘ﬂa(gj_ﬂ‘:L,(g)


https://dl.doubtnut.com/l/_oh9PE4fMNk59
https://dl.doubtnut.com/l/_A4T6gtlzREN8

Sy
D. Lbutyne MW (4) @61, gy @w0uMO" ()

Answer: C

° Watch Video Solution

151. The reaction of ethyl methyl ketone with Cl, /excessOH ~ gives
the following major product

A.CICH,CH,COCHj;

B.CH3;CH,COCCl3

C.CICH,CH,COCH-CI

D. CH;CCl (2)COCH,Cl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_A4T6gtlzREN8
https://dl.doubtnut.com/l/_G3OnOOO20YeN
https://dl.doubtnut.com/l/_DByIrNEoEJbN

152. The product obtained from the following sequence of reactions is

HgSO0, NaBH,
CH; - C=CH > A p
H2504

A. propanol

B. 2-propanol

C. 1-propanol

D. propane

Answer: B

o Watch Video Solution

153. Which of the following shows oxidation of reactant.

0 0
{1}/\/—.)K/ (Zl/ﬁ\——k

OCH,

3) @ —_— O (4) CH, =CH; — CH,—CH,—l

Al


https://dl.doubtnut.com/l/_DByIrNEoEJbN
https://dl.doubtnut.com/l/_v86KIyUlL2O5

B.1,2

C.1,2,3

D. All of these

Answer: B

° Watch Video Solution

154. The enolate ion that reacts with

O

A]/ to form i‘:@\

0 4]


https://dl.doubtnut.com/l/_v86KIyUlL2O5
https://dl.doubtnut.com/l/_hcotuvK3h85k

a
B.
&
8]
C.
O
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hcotuvK3h85k

O

HiQ

1H,Pd

Al 0y

CH_& | Nanb o lo<cH
155, “hTC

What is the final product T.
HyC—C = C—C—CHy

?H
CH—C—CH;

H,C = CH
CH,

CH,—C == CH—CH,
C.

CH,

Answer: D

=5

o Watch Video Solution



https://dl.doubtnut.com/l/_jMMNBmE8xZlH

1. Select the best choice for example (A to L) from the examples (a to

n) given below. Write your choice in the box given.

o}

—
"]

®| ZnHYHOM

® ()| NaBH, aq. alcohol | @) Gin
A= : ‘

HO.

.r‘:" : b . ?CHB
O nsomyVon |6 @J‘cm ® City—C—ocHy
CH
0
rd
@) cH,—CH,—C
H

° Watch Video Solution



https://dl.doubtnut.com/l/_uDg2aa5zldU9
https://dl.doubtnut.com/l/_8fv75b7ksDmg

2. The following questions refer to the compounds (A to G) shown

below :

.'“'r," Which compounds are Which compounds are Which compound are

| & |reduced by sodium | ik |hydrolyzed by  hot |H ] oxidisized by

;_-'£r_: borohydride ? aqueous acid ? CrO, /pyridine?

A -l A E A E

B | F B F B F

c G| HE G C G

i e D H D| H

B 4 ) 0
Sl [GAl BN Faa

e

= 0

" O [ 0 OJ\(/

. G. H.

[ HD’U = \(tﬂ éo

° Watch Video Solution

3. Match of the column :

O
L‘;@ )\/ LiATH ¢ (P) | racemic mixture
-
r )\ﬁ, (q) | Diastereomers
| lz‘H’
2& | ph—cH,—C1 <, r) | Nu-addition reaction
o
bu, (8 | Nu-Substitutions reaction
[P i



https://dl.doubtnut.com/l/_8fv75b7ksDmg
https://dl.doubtnut.com/l/_wb87B7dRDUD6

| @ Watch Video Solution

4. Complete the following table.

(solvent)
COOCH;
= . . B
b, O—(CMHJ H' [H,0/a
0
2 @A\H (CH, ), C— P(CeH5 ) c
% 1. 1" [(CH)yCul™
d. in dry ether D
2 H'/H,0
CHyy_ o
e E OH " fethanol/4 CH,

° Watch Video Solution

5. Consider the following reactions and answer A and B.

-

| 58% | sa%
(CHSJ:;C_C_G{S —'W {_CH:\_): C_C_CHR_'BI‘ T’

OH

I 68% rd
[01[3]3C—12|Z~—(312—'31 —-—'{CH;J;C--ii,—- CH:

H H



https://dl.doubtnut.com/l/_wb87B7dRDUD6
https://dl.doubtnut.com/l/_GgnMC0Te42qm
https://dl.doubtnut.com/l/_2O0NHU2DMGwM

Suggest a reagent appropriate step (a) the synthesis.

A.HO ™ / Bry (1 mole)
B.H " /Br, (1 mole)
C. both (a) and (b)

D. None of these

Answer: C

o Watch Video Solution

S5H%
B MQHC—C-d CH]—G—J—P ME]C—C—CHZ — Br

lﬂ]|54"ﬂ-

OH
£
Me;C — CH — CH; «#——— Me,C — CH — CHy — Br
6 (]

Yield of each step as actually carried out in the laboratory is given

above. What is overall yield of reaction?


https://dl.doubtnut.com/l/_2O0NHU2DMGwM
https://dl.doubtnut.com/l/_zlGP9iDGDqjo

A.0.6

B.0.21

C.04

D. 0.68

Answer: B

o Watch Video Solution

0=0

Reaction 1. @/ —H (1) Acs0, AcONZ, A 3(A)
@H,0% 4

(o]
Il
- A(OCH
Reaction 2, Ph—{‘.%-[-CH—C—CI'Is—Dt_—'E_ﬂ;l—r(B)

CHy

OH

|
Ph —CH = CH— CH— CH, N, &y
{2IH*

7.

Degree of unsaturation present in compound (A+B +C) is ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zlGP9iDGDqjo
https://dl.doubtnut.com/l/_ip9l6VqraVlw
https://dl.doubtnut.com/l/_cL8o0PncQBwf

8. Within each set, which compound should be more reactive toward

carbonyl addition reaction ?

Set (1)

|
CH, — C—CH; —Br CHy — C—CH; —CH, —Br

0
Set (2) E E [
CH; — C— C—CH, CHy; —C—CH, —CH,

0
s _@_C_H CHy —C—H
2 g G
Set (5) [>=o D=0

|
!
N CHO |
[ |
| H I
H |
o 0 |
Il I _
C—H i ] C—H
Set (7) |
. 6] (8]
CHO

CHO cl |
Set (8) Oﬂj @ .
[s]

Set (10) i @—E— H .
CHy; —C—CH; —CH, |



https://dl.doubtnut.com/l/_cL8o0PncQBwf

I & Watch Video Solution I

9. Match the Column (1) and Column (I1). (Matrix)

Formation of six member
m HCN (A) LiATH (B) NaNO, .r.r‘} (’) r‘h‘ls takes p|Rl;‘l.'

traces of KOH HO

(B) & NHAOM |, ay HT oy LA ey (@) | Final product is Ketone

(o}
i Final product formed

I f
CHy -C~-CH, =CH, -~ CH; = C- H—Hf:—> (A) |8} | will give positive Tollens
test

Ph Final product formed |

| ﬁ — Yy 6A) (s) | Will react with 2,4-DNP. |
ik {2,4-di-nitrophenyl I

e hydrazine) |

o Watch Video Solution

10. Consider reactions A through F. Those carbon atoms undergoing
change, as part of a functional group, are marked as C'2, C'* or
starred. In the cases shown, each carbon atom has either been

reduced or oxidized. Your job is to identify the change in oxidation


https://dl.doubtnut.com/l/_cL8o0PncQBwf
https://dl.doubtnut.com/l/_5dtNXRU1UoLl
https://dl.doubtnut.com/l/_UnOx6RXSW0qD

state that has occurred for each of the marked carbon.

A, | CH,CH =CH, ~ " CH,CHBrCHBr Reguced Reduced |
12 14

Oxidized Oxidized |
! ((1B3H, Reduced Reduced |
B. | CHyCH = CH, —rrsmii— CHGCH,CH,0H == g
Oxidized Oxidized |
C. | cH,CH, CH = 0 —tBHe_, e}, CH,CH,0H Jales
i ficd bl b Oxidized
; + gt Reduced
D | CH,CH,CH = O —pppiss* CHaCHCOH =
B | cH,c00H, Gogn—ten, § O Reduced Boduckd
i 12 "4 0=C=0 Oxidized Oxidized |
'_r.. Hz = C(OHJC;HS tauromerzation H:CCOCZHE REdﬂ‘CEd Bg_d_u@_:
e ae Oxidized Oxidized |

° Watch Video Solution

11. Consider the possible formation of an aldehyde or ketone product
when each of the ten compounds in the column on the left is treated
with each of the reagents shown in the top row. Check the designated
answer box if you believe an aldehyde or ketone will be formed.

Assume that the reagents may be present in excess. For each checked


https://dl.doubtnut.com/l/_UnOx6RXSW0qD
https://dl.doubtnut.com/l/_uRXYA7KOLphv

reaction, try to draw the structure of the major product (s).

o View Text Solution

12. Wittig reaction :

The reaction of a phosphorus ylide with an aldehyde (or) ketone


https://dl.doubtnut.com/l/_uRXYA7KOLphv
https://dl.doubtnut.com/l/_Z85gtdZa2AXZ

introduces a carbon-carbon double bond is place of the carbonyl

bond.

0 CH,
R—C—R + PhaP =CH,—> R—C—R + Ph,P=0
Mechanism :

ey

0 g  PPh

G I
R-C R 4 G, Pen, R—C—CH,

Mucleaphilic sddition R

e Rty ) b sy WD Tl pmde |

*
CH, 0 + PPI
i! -—J A 3
O =PPhy + R —C—R R c-Len,
R

ouaphaspheriane
wnier meediale |

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).

+ PhyP == CH, -— (A) (major),

, Major
product (A) is :


https://dl.doubtnut.com/l/_Z85gtdZa2AXZ



https://dl.doubtnut.com/l/_Z85gtdZa2AXZ

Answer: A

0 Watch Video Solution

13. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
CH,
Il !
R—C—R + Ph3P=CHI———l R—C—R + Ph,P_—.rO

[ ™
i
PPh,

Mechanism :
7!
.R MEHJ - $Ph] — R - {lz - CILZ
R

(Nucleaphilic addition

reactinn (betaune termediate |
CH, PPh.
3
!

D==P'Ph3+—ﬂ—.——ﬂ 4 R (; 2
|
R

{oxaphosphetane
mtermediate}

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).


https://dl.doubtnut.com/l/_Z85gtdZa2AXZ
https://dl.doubtnut.com/l/_d1gBCIz8IN39

)

|
CH; -C -CHy, — CHy, — CHy, — CH,

product (A) is :

CH,

A.
H,

B.
CH,

]
— PPhs

Ph—Li
T; (A), Major


https://dl.doubtnut.com/l/_d1gBCIz8IN39

Answer: A

o Watch Video Solution

14. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.


https://dl.doubtnut.com/l/_d1gBCIz8IN39
https://dl.doubtnut.com/l/_jQ4cKu3AjBmV

CH,
Il (!
R—C—R + PhyP=CH;— R—C—R + Ph,P=0
Mechanism :

[

&
Pl‘Ph:;
R-G-R 4 Gu,-Ben, —> R—G—CH,
(Nucleophilic addition
reaction ) {betaine_mntermediaie )
CH, t]? 7 PPh-
| 3
[}==PPh3+R—J—R ; R--n%—fllndz
R
{oxaphosphetane
mtermediate }

Driving froce of the reaction is high bond energy of (P

(AH = — ve).
f s H
__Ph,F
CH! CH,

product (A) is

A. cis-2-butene
B. trans-2-butene
C.iso-butene

D. 1-butene

= 0).

Major


https://dl.doubtnut.com/l/_jQ4cKu3AjBmV

Answer: B

O Watch Video Solution

15. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
I 'k
R—A—R+ PhyP =CH; — R—(!—R + Ph;P=0
Mechanism :
PPh
R-¢-R o C,-Bpn, — R—G— @,
(Nucleophilic addition
redction ) {bcubeIm:rrmede
CH, 9 5 PPhy
| 2
D=-=PPh3+R—J—R — Rw-?-dznz
R

{oxaphosphetane
intermediate)

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).


https://dl.doubtnut.com/l/_jQ4cKu3AjBmV
https://dl.doubtnut.com/l/_1KzY92K4yGs8

0 () 0
I | '

| . ;
CH4 - C -(CH;)3 - C-CH, - P(OBt); —="— (A) (cydlic). |

. Product (A)

B. ChH-


https://dl.doubtnut.com/l/_1KzY92K4yGs8

CH

Answer: B

o Watch Video Solution

16. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone
introduces a carbon-carbon double bond is place of the carbonyl

bond.


https://dl.doubtnut.com/l/_1KzY92K4yGs8
https://dl.doubtnut.com/l/_xzavUazkTxzi

CH

0 2
¢ ¢
R—C—R + PhyP=CH;—+ R—C—R + PhyP=0

Mechanism :
H{.
{
R-G-R &1, - Ben, — R— CI — CHy

(Nucieophilic sddition R
reaction ) (betaine mtermedute )

CH, PPh.,
! Ch,
0= PPhy + R—C —R ‘ R—C 15
|
R
{oxaphosphetanc
intermediate )

Driving froce of the reaction is high bond energy of (P = 0).
(AH = — ve).

Identify major product in given intramolecular wittig reaction :

Il
Rxn-1 — CH, — C—CH; — CH(CO,Et), + H,C == CH— “PPh, ¥ ,(4)

CH =0
Raxn -2 ; @: - +HC=CH—¥PPh; —— (B)
SNa

Product (A) and (B) respectively are :

CO,Es
AL QD

GO,

D.


https://dl.doubtnut.com/l/_xzavUazkTxzi

Answer: A

0 Watch Video Solution

17. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
0 o,
R—ll?l-—nﬂ. + PhyP=CH;—+ R—C—R + PhP=0
Mechanism :

[
¢ f i
R- UE’HJ --?*Ph, — R— CI — CHy

[Nucleophilic addition R
Feactinn {betaine iniemediadie )

o

[
0—PPh, + R—C—R « C
I

R
{oxaphosphetane
utermediate }

Driving froce of the reaction is high bond energy of (P = O).

(AH = — ve).


https://dl.doubtnut.com/l/_xzavUazkTxzi
https://dl.doubtnut.com/l/_gIgKKiWTl95F

CH, - Br

(1) Ph P2 mwode )
“@awnn o A
CH, - Br  @cno

CHO
, Product (A)

o

A

o ©

<9

Answer: B


https://dl.doubtnut.com/l/_gIgKKiWTl95F

o Watch Video Solution

18. Match the column :

0
I

Lo NH,/NH,/HO®, A
,v‘ 2 (p} (Wolff -Kishner reduction)
] Zn(Hg), HCI
.Im]_ 0 Sy I(QJ {Clemmensen

L il reduction) f
o _co i -
e

o OH

el

l-t‘J i Cﬁ\ (s) None

o Watch Video Solution



https://dl.doubtnut.com/l/_gIgKKiWTl95F
https://dl.doubtnut.com/l/_qp7XbEDzUsjI

HgSO, NaBH
(A) 8% gy (U M, oH, —C—CH,—CHy
dil. H;50, (MH* A Il

19. CH—GH;
Reactant (A) is :

CH,—C - C——CI-I—CH;
|
A. abs

DCHg—CEC—CH2—CH2—CH3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_r82ZyFqkhjXR

HgSO, (1) MaBH,
1, —_ 4, ¢H,—C—CH,—CH
(A) dil. H 380, (B) (HH" A 4 ” ? ’

20. CH—CH,

Product (B) is :

A.)cf\/\<
LI

Ao

kS

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2f33uzRMvpuP




